Welcome to Year & Maths
The lesson will begirv ab |:15am
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253.64

Read this number
What is the value of the digit 67
Muliplyy the number by 10,
What is 5 less?



. How many white t-shirts could you buy with £1207

' What could you buy with £15?7 Find three possible options.

H Eddie spends £360 on white t-shirts. How many did he buy?



Complete these humber sentences.

25+25+25+25=@X 25

I0+I0+I0+I0=><5

25 + 25 + 25 + 25 =

25 + 25 + 25 + 25 =

25 + 25— 25— 25 =

20

X 5

X 100

X 25



Reatieus
Which is the odd one out?
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The blue shape has a perimeter of 14cm. All other shapes have a perimeter of 12cm.



Sentence Stems:

The perimeter is the distance around o 2-D shape.

- Doy + oy + ooy + oy = 20cmy
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16cm 12cm 1écm
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A rectangle has two pairs of (parallel) sides of equal length.

Using this, we know that both the width are 15cm and both the lengths are 8cm.



Themmubwmwmoacmw.

He says, ot
“The missing lengthy must be: demu The missing widthy must be [2em

Scrrv + Ocmy + [ 2oy + [2emy = 3oy’

bcm+bécm+7cm+7cm = 26cm bemy

Jomy



She saus, Semy
bcomy T
This will gine me the perimeter. 2

Scrmy + bemy = Yoy Yomy o 2 = 18emu

2cm + 6cm = 8cm

TI’\&PEJWL&'SO’T\J 8cm x 2 = 16em

Ocrry



2cmy

bcrry

2cm + 6cm = 38cm

8cmx2=16cm



Yemy
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L will know hour to- measure the perimeter of a
rectangle.
Plenany

1a. Ava has drawn a rectangle with a
perimeter of 18cm, but a paint splat has
covered the measurement of each side.

What could the measurements of each
side be incm?




